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[J A.DECLARETYPE emprectyp ISRECORD(EMPNO
emp.empno%TYPE, ENAME emp.ename%TYPE,JOB
emp.job%TYPE,MGR emp.mgr%TYPE, HIREDATE
emp.hiredate%TYPE,SAL emp.sal%TYPE,COMM
emp.comm%TYPE,DEPTNO emp.deptno%TYPE). TYPE
emp_cursor ISREF CURSOR RETURN
emp%ROWTYPE.vemp_cur EMP_CURSOR.vemp _rec
EMPRECTYP.BEGINOPEN vemp_cur FOR SELECT * FROM
emp.LOOPFETCH vemp_cur INTO vemp_rec.EXIT WHEN
vemp_cur%NOTFOUND.DBMS OUTPUT.PUT(vemp_rec.emp
nollacute.||[vemp_rec.ename||acute.|[vemp_rec.job).DBMS OUTP
UT.PUT(vemp_rec.mgr]||acute.||vemp_rec.hiredate||acute.|[vemp_r
ec.sal).DBMS_OUTPUT.PUT _line(vemp_rec.comml||acute.||vemp
_rec.deptno).END LOOP.CLOSE vemp_cur.END./Q.] "EMP"[]
OO0O0O00OPL/SQLUOOOPL/SQLU O DO OO O O5000 O
JododododouodoUondADECLARETYPE
emprec ISRECORD(EMPNO emp.empno%TYPE, ENAME
emp.ename%TYPE,JOB emp.job%TYPE,MGR emp.mgr% TYPE,
HIREDATE emp.hiredate%TYPE,SAL emp.sal%TYPE,COMM
emp.comm%TYPE,DEPTNO emp.deptno%TYPE).i

BINARY INTEGER:=1.TYPE emp tab IS TABLE OF EMPREC
INDEX BY binary_integer.vemp EMP_TAB.CURSOR c1 IS



SELECT * FROM emp.BEGINFOR x IN
c1LOOPvemp(i).empno:=x.empno.vemp(i).ename:=x.ename.vem
p(i).Jjob:=x.job.vemp(i).mgr:=x.mgr.vemp(i).hiredate:=x.hiredate.v
emp(i).sal:=x.sal
500.vemp(i).comm:=x.comm.vemp(i).deptno:=x.deptno.i.=i
1.END LOOP.FOR | IN

1..1-1LOOPDBMS_OUTPUT.PUT (vemp(j).empnol|acute.|[vemp(]
).ename||acute.||[vemp(j).job).DBMS_OUTPUT.PUT (vemp(j).mgr
||acute.||[vemp(j).hiredate||acute.||[vemp(j).sal).DBMS_OUTPUT.P
UT _line(vemp(j).comm||acute.||[vemp(j).deptno).END
LOOP.END./Q.U O OO O OPL/SQLO OO OO O PL/SQLO
JodododododouoUondADECLARETYPE
emprec ISRECORD(EMPNO emp.empno%TYPE, ENAME
emp.ename%TYPE,JOB emp.job%TYPE,MGR emp.mgr% TYPE,
HIREDATE emp.hiredate%TYPE,SAL emp.sal% TYPE,COMM
emp.comm%TYPE,DEPTNO emp.deptno%TYPE).i

BINARY INTEGER:=1.TYPE emp tab IS TABLE OF EMPREC
INDEX BY binary_integer.vemp EMP_TAB.CURSOR c1 IS
SELECT * FROM emp.BEGINFOR x IN
c1LOOPvemp(i).empno:=x.empno.vemp(i).ename:=x.ename.vem
p(i).Jjob:=x.job.vemp(i).mgr:=x.mgr.vemp(i).hiredate:=x.hiredate.v
emp(i).sal:=x.sal.vemp(i).comm:=x.comm.vemp(i).deptno:=x.dept
no.i;=i 1.LEND LOOP.-- FOR IN 1..i-1-- LOOP--

DBMS OUTPUT.PUT(vemp(j).empnol|acute.|[vemp(j).ename]|ac
ute.|]|vemp(j).job).--
DBMS_OUTPUT.PUT(vemp(j).mgr||acute.||vemp(j).hiredate||acu



te.]lvemp(j).sal).--

DBMS_OUTPUT.PUT _line(vemp(j).comm||acute.||vemp(j).deptn
0).--ENDLOOP. 100Test U D DO DO OO OOOOOOO
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